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If y = cotx,thenY (Z) equals ... (F) 306 o b = ()5 3813
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Ifx?+y%=1 V=T02 + e 08 13
dy LS
, then (E) equals ...... | e gl oS oF
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(3) If x2 + y2 = 3, prove that : ¥o= e 1 ol 13
2
3 d%y v
— 43 = sy, PS5
y dx? 3 0 Y‘+b‘5 e Ol el
3



@ A constant length ladder ,its upper end is g @b G J ol b W

sliding on a vertical wall at a rate of Sy d Juaan GJ Wil e
k unit /sec . RCYAR

find the rate of sliding of its base.away from 0 il b sl Jutas 5
the wall when the ladder lear;s with the wall g“’( e Vu\ oo Loaie Laslodl
by an angle 6 where csc =7 R - I JOW s FAES
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)dx equals ...

6x——+c
x
x3+5In|x|+c

x3—=5Ilnx+c

3x3+5n|x|+c
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If the slope of the tangent to the curve of the

function f at any point (x ,y ) belonging to it

equals ﬁ and f(e) = % , find f(2e).
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The function f : f(x) = x3 + 6x + 2 is OSS Y+ T+ = () 3: DN

increasingwhen x € .......... | e 3 e leis Bl 2
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If the curve y = (5x —a)® + 4 has an £+ (P 0) = o soiald OIS 13)
inflection point at x = 2.,thena=...... | .. = POl Vo e DBl Ak

@2 @5 o@ \‘@
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The absolute maximum value for the EAIRVURE VSN[ BN - A R OOt
function f:f(x) = —x? intheinterval | [¥«¥-] 8l 3 ‘o — = (0>
[32]0s (\ 3™ . g™ P

® f(-3) ® £ s @ s @
© f@ @ f@ ms O 0> B




@ Answer one of the following items

(a)  Determine the maximum and the
minimum local values (if they exist)
for the function f such that;

f(x) = 8lnx - x*

(b)  Determine the absolute
extrema values of the function
fifx)=x3-3x+2,
x €[-2,1]
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[tan®x dx=.......
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tanx —x +c¢

tanx +x + ¢
sec*x + ¢

1
Etan3 x+c




@ If the length of the hypotenuse of a right an- | 45!} Vs\s Edie 39 J gl OIS 131
gled triangle equals 10 cm find the length | =k oo JS Jsb aasle o
of the two legs of the right angled triangle | &>l 055 leiis o 3V
when the area of the triangle is as maxi- e Lo ST E gz

mum as possible .




Find the area of the region bounded by the | i 8) seamell dalatdl dolus a5

two curves:
, V=2 = Gl
y=x°,y=2x.




If f_32f(x)dx=12, ‘ \Y:uﬂ;(w);\v oS 13
2, f(x)dx = 16, \w=w5(;) 2\
thenf:f(x)dx= .......................... =u~“5(u‘)>1° J\s
©x 0 - -9 ™0
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@ Find the volume of the solid generated 093 (o (AW ) o2 dos)
by revolving the region bounded by the i) o By TR

1.2
twocurves: Y =X,y =7X" a complete

JJ"‘J}"YJ‘% =P =P
revolution about the x-axis . i
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Answer one of the following items 1 e 3G paaM Sdm| e

(a) Find: [ x(x — 2)*dx oS (e o st ()

(b)  Find: [x3e¥ dx 5V | sl ()
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